
 



 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 



 

 

 

 

 

 

Worm  gear speed  reducers  type  SF – MSF  range is  a brand new product  generation  of products 

developed by  our company. They  are characterized by a kinematic motion made of a casehardened 

and tempered steel worm with a ground  thread  and  a wheel made out of a spheroidal graphite  cast 

iron hub with addition of bronze. 

The SF – MSF series are  made up for 9 sizes with ratios from 1:7.5 until 1:100,  are  manufactured in 

die-cast aluminium  frame up to the model 90 and in grey cast iron sizes 110 and 130. 

As an extension range we have avaliable 3 sizes of pre-stage helical units  PR, combination of double 

worm gearmotors, single and double output shafts and torque arms. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

To install the reduction unit the following instructions must be complied 

 

- Ensure correct alignment between the motor and the  gear  unit  and  between the gear unit and the 

driven machine. 

- Mount the gear unit so that it is not subject to vibrations while operating. 

- Machine the parts which are keyed into the shafts with  the  correct  tolerance,  to avoid  forcing  the 

gear unit during mounting. 

- If shock, impact or seizure are expected, safety couplings must be fitted. 

- If additional paint is applied you must  protect   the outer   edges  of   the  oil   seals  to  prevent  the 

rubber  from drying and causing oil leaks. 

- Clean the mating surfaces thoroughly and coat with suitable protective substances before assembly 

to prevent oxidation leading to seizing. 

- When starting up, check that the electrics are equipped with overload cut-out to prevent damage to 

the motor. 

- Check that the supply  voltage  punched  on  the electric motor nameplate is the same as the  main 

voltage. 

 

While the gear unit is working 

 

- For units supplied without oil plugs, lubrication is permanent so they need no servicing. 

- The oil needs to be changed for 110 and 130  models  after approximately 5.000 hours or after long 

inactivity period. It  is  necessary  to  check  the   quantity  of  oil   needed   following   the  mounting  

position tables (on page 38). 

- In the case of ambient temperatures under  –20ºC  or  over  40ºC  please contact with our technical 

department. 

- During the early stages of service the gear unit temperature could be lightly higher than usual. 

 

 

 

   

 



 

 

 

Transmission movement can produce radial or axial loads on shaft  ends,  it  is  necessary to make sure 

that resulting values, in most unfavourable conditions, do not exceed the maximum allowed values. 

In following table permissible radial loads Fr1 for input shaft are listed. Contemporary  permissible  axial 

load is obtained: 

 

 
 
 
 
                                                                               Fr1  (daN) 

SF 

063 

42 

46 

50 

53 

 

  
  
 

 Admissible radial loads Fr2 for output shaft are listed In the next table. Contemporary  permissible axial 

load is obtained: 

 

 
                                                                               Fr2 (daN) 

SF – MSF 

063 

233 

256 

295 

325 

349 

370 

408 

441 

467 

515 

555 

 

    
* Values given in the tables are relating at loads in the shafts center  line. 

 

 

  
  
Irreversibility is a characteristic of some worm gear reducers, it  can  not  be  operated  from  the  output 

shaft. As orientation we show you the following table. 

 

30 / 1 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

80

45

45

35

B

56
.5

ø55

1
0
°

22.5 22.5

8
3

4
8

3
5

3
5
.5

2
2
.5

2
5

6

22

34

42

Ø
4
5

45

2.5

5

1
2
.8 4 H8

Ø11 H8

7
0

Ø
5
5

Ø6.5

ø
7
5

ø40



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

H 

40 

50 

60 

72 

86 

103 

127.5 

147.5 

 

KE 

M6x11 (4) 

M6x8 (4) 

M8x10 (4) 

M8x14 (8) 

M8x14 (8) 

M10x18 (8) 

M10x18 (8) 

M12x21 (8) 

H G

C

A

E

R
H

Q
V

I

S

ØM

P

P
A
M

KE

G1

N1 N1

Ø
N

L

K

F

ØO
G1

T T

Ø
D

b

t

K
Q

Ø
K
M

Ø
K
P

a

ØKO

KA

Ø
K
N

    KC

   KB



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

KB 

7 

9 

12 

9 

10 

14.5 

10 

10 

10 

16.5 

13 

18 

17 

13 

18 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

t 

10.2 

12.5 

16.0 

21.5 

27.0 

27.0 

31.0 

33.0 

G B

Ø
D

G1B1

Ø
D

1

f
f1

t

b

t1

b1

G1

T T

Ø
D

b

t

KA

Ø
K
N

    KC

   KB

K
Q

Ø
K
M

Ø
K
P

ØKO

H G

a

N1



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

D 

 

9 

 

9 

 

 

- 

 

 

- 

 

 

- 

 

 

- 

- 

 

 

- 

 

 

- 

- 

 

- 

- 

D N M P



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

L 

81 

102 

128 

153 

173 

192 

234 

249 

265 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

k
1

R

KG G

K
H

G1 G1 B1

B

L

Ø
D

f

B1 B1

B B

L1

Ø
D

f

t1

b1



 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                   POS. TERMINAL BOX OUTPUT FLANGE

3

4

1 STANDARD

2

3

2 4

1 OPPOSITE SIDE

B3 B8 B6 B7 V5 V6

M
S

F

B6B8B3

P
R

-M
S

F

V6V5B7

M
S

F
-M

S
F

PS2

AS2

PS1

AS1

BS1

VS1

BS2

VS2



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Choice of lubricants 

  
MSF Worm-gear speed reducers  

MSF 110~130 

 Synthetic 

-25ºC ~ +40ºC 

VG 320 

 

MELLANA 

OIL 320 

OMALA OIL 

320 

BLASIA 320 

S 220 

MOBIL GEAR 

320 

ALPHASYN  

PG 320 

ENERGOL  

SG-XP 320 

 

 Oil volume 

MSF 

063 

0.3 

 
MVB 

B3 V5 V6 B8 B6-D B6-I

V1B3 V3

   
   

F
E
E
T

   
   

   
   

 F
L
A

N
G

E



 



 

 
 

 

 

 

 

 

 

B5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

L 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

P N

D

T

LA

Y

X

LBE

L

Z

A
C

Ø
S

M



 

 

 

 

 

B14 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

L 

193 

212 

246 

275 

301 

326 

364 

388 

450 

488 

 

 

 

Y

T

E

X

L

P N

D

LB

M

Z

SA
C


	CATALOG1_4.pdf
	Página2

	CATALOG5_15.pdf
	Página4
	Página5
	Página6
	Página7
	Página8
	Página9
	Página10
	Página11
	Página12
	Página13
	Página14
	Página15
	Página16
	Página17

	CTALAG38_42.pdf
	Página1
	Página2
	Página3
	Página4
	Página5




